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.SUBCKT LVD D DGND VH YO Y1

X1 D N1 inviP

M1 N3 VH VDD1 VDD1 pch L=3u W=3.u M=36
M2 N3 N1 YO Vss nch L=0.4u W=1.2u M=18
M3 N3 D Y1 Vss nch L=0.4u W=1.2u M=18

M4 YO D DGND Vss nch L=0.4u W=1.2u M=18
M5 Y1 N1 DGND Vss nch L=0.4u W=1.2u M=18
R6 Y1 YO 10K TC=0.0, 0.0

.ENDS

.SUBCKT LVR DO D1 VL VM Y

X2 N1 Y inv4P

XINV1iS_1 N34 N1 INV1S

M1 N15 N15 VDD1 VDD1 pch L=0.4u W=3u M=1
M2 N36 N15 VDD1 VDD1 pch L=0.4u W=3u M=1
M3 N15 D1 N33 Vss nch L=0.4u W=1.2u M=1
M4 VDD1 DO N33 Vss nch L=0.4u W=1.2u M=1
M5 N33 VL VSS1 Vss nch L=3u W=3u M=2

M6 N35 VL VSS1 Vss nch L=3u W=3u M=1

M7 N34 VM N35 Vss nch L=0.4u W=3u M=1

M8 N34 VM N36 VDD1 pch L=0.4u W=3u M=1
.ENDS

.SUBCKT LVR2 DO D1 ENB VL VM Y

X2 N34 Y inv4P

M1 N35 VM N33 VSS nch L=0.4u W=3u M=1

M2 N35 VM N42 VDD1 pch L=0.4u W=3u M=1
M3 N37 ENB N40 VSS nch L=1u W=3u M=2
XINV1S_1 N35 N34 INV1S

M4 N38 N38 VDD1 VDD1 pch L=0.4u W=3u M=1
M5 N42 N38 VDD1 VDD1 pch L=0.4u W=3u M=1
M6 N38 D1 N37 VSS nch L=0.4u W=1.2u M=1
M7 VDD1 DO N37 VSS nch L=0.4u W=1.2u M=1
M8 N40 VL VSS1 VSS nch L=3u W=3u M=2

M9 N33 VL VSS1 VSS nch L=3u W=3u M=1
.ENDS

.SUBCKT LVR3 DO D1 ENB Y

X1 N36 N33 invilF

X2 N33 Y inv4P

X3 N35 N35 inviF

M1 N34 ENB N37 VSS nch L=0.4u W=1.2u M=2
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M2 N39 N39 VDD1 VDD1 pch L=0.4u W=3u M=1
M3 N39 D1 N34 VSS nch L=0.4u W=1.2u M=2
M4 VDD1 DO N34 VSS nch L=0.4u W=1.2u M=2
M5 N37 N35 VSS1 VSS nch L=0.4u W=1.2u M=2
M6 N36 N35 VSS1 VSS nch L=0.4u W=1.2u M=1
M7 N36 N39 VDD1 VDD1 pch L=0.4u W=3u M=1
.ENDS

.SUBCKT LVR4 DO D1 ENB VL Y

X1 N3 N7 inviF

X2 N7 Y inv4P

M1 N1 ENB N4 VSS nch L=1u W=3u M=2
XinviP_1 ENB N9 inv1P

M2 N6 N6 VDD1 VDD1 pch L=0.4u W=3u M=1
M3 N6 D1 N1 VSS nch L=0.4u W=1.2u M=2
M4 N2 DO N1 VSS nch L=0.4u W=1.2u M=2

M5 N4 VL VSS1 VSS nch L=3u W=3u M=2

M6 N3 N10 VSS1 VSS nch L=0.4u W=1.2u M=1
M7 N10 N10 VSS1 VSS1 nch L=0.4u W=1.2u M=1
M8 N3 N9 VSS1 VSS nch L=0.4u W=1.2u M=1
M9 N2 N2 VDD1 VDD1 pch L=0.4u W=3u M=1
M10 N10 N2 VDD1 VDD1 pch L=0.4u W=3u M=1
M11 N3 N6 VDD1 VDD1 pch L=0.4u W=3u M=1
.ENDS

.SUBCKT HITR2 HIT OUT VL VM

XINV1iS_1 N5 N1 INV1S

Xinv4P_1 N1 QOUT inv4P

M1 N5 VM N7 VSS nch L=1u W=3u M=1

M2 HIT HIT N10 VSS nch L=1u W=3u M=1
M3 N10 N10 VSS1 VSS nch L=3u W=3u M=1
M4 N3 HIT N17 VSS nch L=1u W=3u M=1
M5 N17 N10 VSS1 VSS nch L=3u W=3u M=1
M6 N7 VL VSS1 VSS nch L=3u W=3u M=1
M7 N5 N3 N6 VDD1 pch L=1u W=3u M=2

M8 N3 N3 N2 VDD1 pch L=1u W=3u M=1

M9 N2 N2 VDD1 VDD1 pch L=3u W=3u M=1
M10 N6 N2 VDD1 VDD1 pch L=3u W=3u M=2
.ENDS

.SUBCKT HITR1 HIT OUT VL VM

XINV1S_1 N37 N34 INVi1S
Xinv4P_1 N34 0OUT inv4P
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M1 N37 VM N33 VSS nch L=1u W=3u M=1

M2 N33 VL VSS1 VSS nch L=3u W=3u M=1
M3 N37 HIT N36 VDD1 pch L=1u W=3u M=2
M4 HIT HIT N35 VDD1 pch L=1u W=3u M=1
M5 N35 N35 VDD1 VDD1 pch L=3u W=3u M=1
M6 N36 N35 VDD1 VDD1 pch L=3u W=3u M=2
.ENDS
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.SUBCKT MUX1 AIN AOUTO AQUT1 ENB VH VL VM
Xinvl_1 ENB N3 invl

M1 AQUT1 AIN N6 VSS nch L=1u W=3u M=10
M2 AQOUTO VM N6 VSS nch L=1u W=3u M=10
M3 N6 ENB N5 VSS nch L=1u W=3u M=10

M4 N5 VL VSS VSS nch L=3u W=3u M=10

M5 AQOUT1 AIN N2 VDD pch L=1u W=8u M=10
M6 AQUTO VM N2 VDD pch L=1u W=8u M=10
M7 N2 N3 N4 VDD pch L=1u W=3u M=10

M8 N4 VH VDD VDD pch L=3u W=3u M=10
.ENDS

.SUBCKT MUX2B AIN AQUTO AQUT1 ENB VH VL VM
Xinvl_1 ENB N72 invl

M1 AOUT1 AIN N65 VSS nch L=1u W=3u M=10
M2 AQOUTO VM N69 VSS nch L=1u W=3u M=10
M3 N69 ENB N78 VSS nch L=1u W=3u M=10
M4 N78 VL VSS VSS nch L=3u W=3u M=10

M5 N66 VL VSS VSS nch L=3u W=3u M=10

M6 N65 ENB N66 VSS nch L=1u W=3u M=10
M7 N67 VDD N70 VSS nch L=1u W=1.2u M=1
M8 N69 VDD N65 VSS nch L=1u W=1.2u M=1
M9 AQOUT1 AIN N67 VDD pch L=1u W=8u M=10
M10 AOUTO VM N70 VDD pch L=1u W=8u M=10
M11 N70 N72 N77 VDD pch L=1u W=3u M=10
M12 N77 VH VDD VDD pch L=3u W=3u M=10
M13 N65 VSS N69 VDD pch L=1u W=3u M=1
M14 N70 VSS N67 VDD pch L=1u W=3u M=1
M15 N71 VH VDD VDD pch L=3u W=3u M=10
M16 N67 N72 N71 VDD pch L=1u W=3u M=10
.ENDS

.SUBCKT MUX3B AIN AOUTO AQUT1 ENB VH VM
Xinvi_1 ENB N70 invil

M1 N66 VDD N71 VSS nch L=1u W=1.2u M=1

M2 N31 N65 VSS VSS nch L=1u W=1.2u M=10
M3 N47 N68 VSS VSS nch L=1u W=1.2u M=10
M4 N68 N68 VSS VSS nch L=1u W=1.2u M=10
M5 AQUT1 ENB N37 VSS nch L=1u W=1.2u M=10
M6 N65 N65 VSS VSS nch L=1u W=1.2u M=10
M7 AQUTO ENB N31 VSS nch L=1u W=1.2u M=10
M8 N37 N68 VSS VSS nch L=1u W=1.2u M=10
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M9 N92 VM N45 VSS nch L=1u W=1.2u M=10
M10 N45 N65 VSS VSS nch L=1u W=1.2u M=10
M11 N96 VM N47 VSS nch L=1u W=1.2u M=10
M12 N65 AIN N66 VDD pch L=1u W=8u M=10
M13 N68 VM N71 VDD pch L=1u W=8u M=10
M14 N71 N70 N69 VDD pch L=1u W=3u M=10
M15 N69 VH VDD VDD pch L=3u W=3u M=10
M16 N71 VSS N66 VDD pch L=1u W=3u M=1
M17 N67 VH VDD VDD pch L=3u W=3u M=10
M18 N66 N70 N67 VDD pch L=1u W=3u M=10
M19 AOUT1 N70 N83 VDD pch L=1u W=3u M=10
M20 AOUTO N70 N87 VDD pch L=1u W=3u M=10
M21 N83 N92 VDD VDD pch L=1u W=3u M=10
M22 N87 N96 VDD VDD pch L=1u W=3u M=10
M23 N96 N96 VDD VDD pch L=1u W=3u M=10
M24 N92 N92 VDD VDD pch L=1u W=3u M=10
.ENDS

.SUBCKT SHPR2 AOUT NEG POS VH VL VM

M4 N9 VH Vdd Vdd pch L=3u W=3.u M=2

M5 N7 NEG N9 N9 pch L=1u W=3.u M=20

M6 N11 POS N9 N9 pch L=1u W=3.u M=20
M7 N7 VL Vss Vss nch L=3u W=3u M=2

M8 N11 VL Vss Vss nch L=3u W=3u M=2

M9 AOUT VM N7 Vss nch L=1u W=3.u M=1
M10 N30 VM N11 Vss nch L=1u W=3.u M=1
M11 AQUT N30 N39 Vdd pch L=1u W=3.u M=1
M12 N30 N30 N42 Vdd pch L=1u W=3.u M=1
M13 N39 N42 Vdd Vdd pch L=1u W=3.u M=1
M14 N42 N42 Vdd Vdd pch L=1u W=3.u M=1
.ENDS

.SUBCKT MUX4 AIN AOUT ENB LOAD VH VL VM
Xinvl_1 ENB ENBB invl

M1 N6 N2 N5 VSS nch L=0.4u W=3u M=10

M2 N5 VM N3 VSS nch L=1u W=3u M=10

M3 N4 VM N1 VSS nch L=1u W=3u M=10

M4 N3 VL VSS VSS nch L=3u W=3u M=10

M5 N1 VL VSS VSS nch L=3u W=3u M=10

M6 AOUT ENB N4 VSS nch L=1u W=1.2u M=10
M7 N5 ENB LOAD VSS nch L=1u W=1.2u M=10
M8 N6 N6 VDD VDD pch L=0.4u W=3u M=10
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M9 N7 N6 VDD VDD pch L=0.4u W=3u M=10
M10 N4 ENBB AOUT VDD pch L=1u W=3u M=10
M11 LOAD ENBB N5 VDD pch L=1u W=3u M=10
M12 N4 VM N7 VDD pch L=0.4u W=3u M=10
XSHPR2_1 N2 N5 AIN VH VL VM SHPR2

.ENDS
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.ENDS

* Main circuit: TESTLVD

XBIASP_1 Gnd N1 VH VL VM BIASP

.op

.global VSS VDD VSS1 VDD1

.1ib ’mm0355v.1’> TT

XLVD_1 DIN Gnd VH INTO INT1 LVD

XLVR_1 INTO INT1 VL VM DOUT LVR

.options reltol=1.e-8 abstol=1.e-16 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XPOWER_2 VDD1 VSS1 Gnd POWER

R1 INTO INT1 1K TC=0.0, 0.0

i2 VDD1 N1 100uA

v3 DIN Gnd pulse(-1.3 2 100n 10n 10n 100n 200n)
.tran 1n 1u

.print tran v(DIN) v(DOUT) v(INT1) v(INTO)

* End of main circuit: TESTLVD
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* Main circuit: TESTHITR

XBIASP_1 Gnd N3 VH VL VM BIASP

.op

.global VSS VDD VSS1 VDD1

XHITR1_1 N2 0OUT1 VL VM HITR1

XHITR2_1 N6 0UT2 VL VM HITR2

XinviP_1 DIN N4 inv1P

.lib ’mm0355v.1’ TT

M1 N7 VL VSS1 VSS nch L=3u W=3u M=1

M2 N2 DIN N7 VSS nch L=1u W=3u M=1

M3 N5 VH VDD1 VDD1 pch L=3u W=3u M=1

M4 N6 N4 N5 VDD1 pch L=1u W=3u M=1

.options reltol=1.e-5 abstol=1.e-10 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XPOWER_2 VDD1 VSS1 Gnd POWER

i5 VDD1 N3 100u

v6 DIN Gnd pulse(-1.65 1.65 1u 10n 10n 1u 3u)
.tran 10n 10u

.print tran v(DIN) v(OUT1) v(OUT2)

* End of main circuit: TESTHITR
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.SUBCKT idealOP INN INP OUT
el OUT GND INP INN 10000
.ENDS

.SUBCKT THTL TH TL

X1 N6 TL invil

X2 TL TH invil

M1 N6 N6 Vdd Vdd pch L=1u W=3u M=1
.ENDS

TESTMUX U O OUOOOODOOO vss=-1.30VvDD=2.000000000
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XBIAS_1 N1 VH VL VM Gnd BIAS

XidealOP_1 N6 Gnd TP1 idealOP
XidealOP_2 N9 Gnd TP2 idealOP
XidealOP_3 N42 Gnd TP3 idealOP
XidealOP_4 N48 Gnd TP4 idealOP
XidealOP_5 N36 Gnd TP5 idealOP
XidealOP_6 N4 Gnd TP6 idealOP
XidealOP_7 N27 Gnd TP7 idealOP

XMUX1_1 AIN N9 N6 TH VH VL VM MUX1

h =]

AN

ENB
VH W

AQUTL
MUX1 5570

VL

L

—

X2

VH[ WM

AQUT

AQUT
VL

Le L4

AQUT

AQUT
VL

v _z/ LRl =/ LRtk =/ Lr10k
ARV

AQU]

LOAl
VL

M

XMUX2B_1 AIN N48 N42 TH VH VL VM MUX2B

XMUX3B_1 AIN N4 N36 TH VH VL VM MUX3B
XMUX4_1 AIN N27 TH N28 VH VL VM MUX4
XPOWER_1 VDD VSS Gnd POWER
R1 N28 Gnd 10K TC=0.0, 0.0
R2 N27 TP7 10K TC=0.0, 0.0
R3 N36 TP5 10K TC=0.0, 0.0
R4 N42 TP3 10K TC=0.0, 0.0

R5 N6 TP1 10K TC=0.0, 0.0
R6 N9 TP2 10K TC=0.0, 0.0

R7 N48 TP4 10K TC=0.0, 0.0

R8 N4 TP6 10K TC=0.0, 0.0

i9 VDD N1 100uA
v10 AIN Gnd pulse(-600m 600m O 6u 6u 100n 200n)
XTHTL_1 TH TL THTL

.tran 5n 12u

.print tran v(AIN) v(TP1) v(TP2) v(TP3) v(TP4) v(TP5) v(TP6) v(TPT7)
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* End of main circuit: TESTMUX
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